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1. Explain briefly the methods
national income. State the
measuring national income.

24Ll82aa

of measuring
dilficulties in
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( Introductory Macroecononlcs I
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(, Marks : 25 ),

TLe figrures in th.e margin indicafe Iull marlcs for the Etestions

A. Choose the correct answer and put a Tick (/) mark
against the brackets provided : 1x15=l5

1. Mixed income of the self-employed means

(a) gross profits received by
proprietors ( )

(b) rent, interest and profit of . an
enterprise ( )

(c) combined factor pa3rments which are nof,
distinguishable ( )

(d) wages due to family workers ( )

la2a
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In the circular flow model of income, households
are ' ) -ri r' '.'Jl' "'::tI i

(,)

:.' .

\..

3.

(a)

(b)

-'(e)

(d)

(a)

:.)

(b)

(a)

(d)

Ba/EC2.IM2ld2A
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4.

lead to " decreise in a"manh-' '

-1 ,, rrj! ; 1T ,i{
result in excess supply , (, , )

cause inllation: ,( I,t ':i: ,

generate income, which will create its
own demand. ' (r' :1).' '" r. i'r" ii,.
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5. In the ldepncdap meCd; ,pfte consumpdon
function describes the relationship between

'f' ) y:i
(a) disposable income and savings ( )

r; ) ;i -,t'. .: t O;,1 . '. , ,

(b) invegtmelrt' 444 government
speniling' ( )

'.)

(c) consumption and gavings

(d) dispgsgpfe income and

()

consumption
expenditure ()

6. which of thqfollo.wing is not a component of
aggregate demand?

(a) Producef ' surplus ( )

(b) Consumption ( )

(c) Investment (, ) ,

(d) Government spend.ing ( )

7, The volume of K in Cambridge eqrrati.on
depends on

(a) money supply (

(b) real national income

(c) velocity of circulation

(d) interest rate ,(. )

Ba/Ec2.M2lE2a
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(b) cash baltrnces held. by the govemment
' ' '' 'And the frftrks '( ' T.. . , | ,i .iril:rr{

(c) total stock of money in circulation at
' 

' an]r fiidifueht :i Ii ( ' )'I' rr? ':('tl \

' 9. Wtreit'rolerdo resei@requir,brndntSrpli$dfr'credit
creation?

(a) They limit credlt creatlcin 1{t( \ )

They encourage credit cieatioff-) i ( )

(c) They have no impact ' ( " )

(d.) They facilitAdi crbdit creation ' ( )

,: -l: : 1,' ;.

10. The concept of inflationary gap wdsrg[ven by

(a) Wicksdll t ( ,): r,.".i'

fb,l 'KeYnes '(''' ") ''' " '

fc/, Milton Friedthdlr .' (''i

(d') A' w. PhilltPs (" '')'

BalEC2;M2la2a
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Ivha,t.l@dfuet dcdlation heve on wages?

(a) Ifihgm@crease due to lower demand for
labour ( )
' ,l ) :l'.';.i,.,. ,i
Wagcc increase due to higher
productivity ( )

f'rrrr,rrrl, t .! tl

Wages remain sarne ( )

Wagcs f[uctuate randomly , ( )

The primary cause of hyperinflation is

(a) tight monetary policy ( )

(b) increase in productivity ( )

(c) decline in aggregate demand 
.

(d) excessive money supply growifr

11r

(b)

' (c)

, (d)

12.

(, )

()

13. Which of the following is not inciuded in
Current Account of balance of payments?

(a) Merchandise ( )

(b) Ttavel and transportation ( )

(c) Transfer paJrments ( )

(d.) Foreign investment' ( )

the

BalF'C2.M2lA2a
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14: . W/rip\Bf'f,fo9rfoUowiry :is,add€hif, Efiem tur ;.balance

of payments?
, :t -t* r.ttiO r ai. )1-:th ii ):.,r, i(J

/c) I pgs6ip15 . ';'' 'from' "i'i r$ansfer

paJrments ( )

15.

(a)

(b)

(c)

(d)

BalEC2.M2la2a

Increase in exchange rate

Devaluation ( )

Inflation ( )

Restriction oar. Exports .
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B. Write Bhort, orotos on any fiue of tiJe

l' Macroeconomics

l,a I

2. Money supply . :

t 1it6 1

3. Inflation



t {Ptl

4. Inflation vs. ,Deflation

(( i"f il

Quantity theory of'laEhiy '

, ;1.1,*-rllr:! :
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